Fall, 2003 ARE202A
FINAL EXAM
DECEMBER 8 2003

Tackle first the question you think is the easier one. It’s always a good strategy to make attempts at all parts
of the question, because then you always have a chance at partial credit. If you omit a part, then you lose
that chance! Don’t attempt either bonus part till you’ve done what you can on the non-bonus parts of
both questions.

Problem 1. (60 points)

Consider a consumer with Cobb-Douglas preferences:
U=A.QP
with A > 0, a = 1/3 and such that f = 1/2, and where Q is a composite consumer good and L is leisure

(not labor). The consumer maximizes his utility subject to non-negativity constraints (Q >0, L > 0), a time
constraint L < T (where T is the total time available) and subject to his budget constraint:

PR<(1-—1)w(T —L)+Y

where p is the price of the composite commaodity, T is the tax rate on wage income (t € [0,1)), w is the wage

rate per unit of labor time, and Y is other non-taxed income. We assume that the consumer’s other income

represents a small share of his maximum wage budget, i.e., thatY < M

(a) Write the utility maximization problem in the usual form.

Max U(Q,L) =AQY3L?

subjectto pQ+ (1—T)wL < (1—T)WwT +Y
—Q<0
—L <0
L<T

(b) Draw the feasible set.

The graph is shown on Figure 1.

(c) On a graph, identify geometrically a segment representing the set of points that could potentially
satisfy the Mantra (i.e., be candidates for solution), given what you know about the utility function.
(Hint: look at the picture you’ve drawn for (b))

See Figure 2. The gradient of U is defined as:
vU)=U/3Q U/2L)
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FIGURE 2. Potential solutions according to the Mantra: the segment [AB]

(for Q@ > 0 and L > 0), so both components of the gradient of U are strictly positive. Thus the gradient
vector of U will point towards the North-East. The gradients of the constraints are the following:

vo9i=(p w(l-T1))
V2= (-1 0)
v9s=(0 -1
V9a=(0 1)
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So we see that the gradient of U will never be in the positive cone of constraints (2), (3) or (4) by
themselves. In fact the gradient of U may only be in the positive cone of constraint (1) or in the
positive cone spanned by the gradients of constraints (1) and (3) or (1) and (4). This means that
without further computations, the set of points candidate for solution according to the Mantra is the
segment of points noted [AB] in Figure 2.

In your answer to (c), there should be exactly two points at which two constraints are satisfied with
equality. Use the Mantra to check arithmetically (by finding nonnegative coefficients that enable
you to write the gradient of U as a nonnegative linear combination of the gradients of the two con-
straints) whether or not the KKT conditions can be satisfied at either of these points.

In Figure 2, these points are noted A and B. At point A, because the constraints (1) and (3) are
satisfied with equality, L =0 and Q = W;F,)T”. At this point ;U = (0 o) which is not well
defined.In fact, because this gradient is not finite, we cannot find a finite linear combination of
the gradients of g1 and g3. So strictly speaking we cannot apply the Mantra. At point B, be-
cause the constraints (1) and (4) are satisfied with equality, L =T and Q = %. At this point
YU = ((1/3)(5)723TY2  (1/2)(%)Y3T ~Y/2) which is strictly positive. We just need to see if we
can write this gradient as a positive linear combination of the gradients of g1 and g4. Let (@1, @) € R?.
We solve the following system:

3'P
O xW(l—T)+@*l= %(%)1/3?1/2

This system leads to the following result:

o i(1)72/3-|-1/2

qh*3pP
_ 1Y omriapY W
= () PTG - Ja o]

so@ >0and @ = %(%)*2/3T*1/2%[Y —2(1-1)T]; since Y < w we can write Y — Zxw(1—

)T <Y — M < 0so0 @ < 0 which means that the gradient of U is not in the nonnegative cone
formed by the gradients of g; and g4, i.e., point B does not satisfy the Mantra either.

Check whether the Constraint Qualification holds at each of the points you have identified in (c)
(You should consider three cases.)

First the CQ conditions: we will show that the Jacobian of the gradients is full rank (a sufficient
condition for the CQ to hold). For the set of points identified in (c) we see that only up to two
constraints may be satisfied with equality: g1 and g3 or g1 and g4. The gradients are the following:
vVai=(p wl-1)
vos=(0 -1)
v9a=(0 1)
so as long as p > 0 and w(1 — 1) > 0 the gradient of g will not be proportional to the gradient of

g3 or of g4, which means that the two couples of gradients are linearly independent. Thus, in any
case on this set the Jacobian of the constraint will be full rank. Note also that in the case where only



(f)

(@)

(h)

01 is satisfied with equality the only gradient of the constraint is linearly independent because it is
nonzero. Hence, the CQ are satisfied.

Check whether the necessary conditions of the KKT are also going to be sufficient. In this problem,
you do not need to check a bordered Hessian condition, you just need to check a Hessian condition.
Explain why.

The feasible set is clearly convex. We check the Hessian of the utility function.

vU)=(U/3Q U/
defined for Q > 0and L > 0.

_ ([ (-2/9U/Q* U/6(QL)
b= Tae) Claons)
The first leading principal minor is strictly negative. The second is:
(—2/9)U/Q%x(—1/4)U /L®— (U /6(QL))* = U?/(Q°L?)(2/36 — 1/36) > 0

So the Hessian of U () is negative definite, meaning that U () is strictly concave and thus strictly
guasi-concave. Thus the necessary conditions of the KKT are also going to be sufficient. (You don’t
need to check the Bordered Hessian because the function is concave.)

Without doing any further computations, what can you conclude about the solution, if any, to this
problem? If a solution does exist, what system of equations will deliver it? Explain what theorem(s)
you are invoking in order to conclude what you are concluding, and explain why it is appropriate to
invoke it/them.

The feasible set is clearly compact and convex, and the objective function is strictly concave and
hence strictly quasi-concave. Hence the conditions for existence of a unique solution are satisfied.
Since the only possible solutions lie on the bold line in Figure 2, and we’ve ruled out both A and B,
the solution must lie in the interior of the line segement joining A and B.

Because the constraint qualification is satisfied along this line segment, the KKT conditions are nec-
essary for a solution. Because the gradient of the function is non-vanishing along it, because the
objective is strictly quasi-concave and the feasible set is convex, the KKT conditions are also suffi-
cient. Accordingly you have to solve for the KKT conditions.

Bonus part: Write the Lagrangian and the first-order conditions to the problem defined in (a), and
use the results of (g) to compute the solution to this problem.

We can define the Lagrangian as:
L(Q.LA,1v,p) = AQYLY2—A(pQ+W(1 ~T)L ~w(1 —T)T =Y) +pQ+VL—p(L~T)



The first-order necessary and sufficient conditions are:
o 1

y=_ = -2/311/2 _

OQ_3AQ LY2 - Ap+p=0 @)
% =BAQYAL Y2 Aw(l 1) +v—-p=0 )
A>0 p>0 v>0 p>0 ®)
APQ+w(1l—-T)L-w(l-T)T-Y)=0 (4)
HQ =0 ®)
vL=0 (6)
p(L—T)=0 ()
%:—(pQ+(1—T)WL—(1—T)WT—Y)20 (8)
oL

a_p:QZO ©)
oL

5 =L=>0 (10)
oL

a—p:—(L—T)ZO (11)

From our conclusions in (c) and (d), we know that only constraint g1 is satisfied with equality. so all
the other are not, meaning that f=0,v=20,and p=0, and Q > 0, L > 0. This simplifies the two
first FOCs to:

oL A __
% _ §Q 2/3L1/2—)\p:0
or_

= %Ql/?’L‘l/2 —AW(1-T)=0

Suppose A = 0 then we would get aAQ~2/3L.Y/2 = 0 but we know that A > 0,Q >0, and L > 0 so
this is not possible. Thus A > 0, which means that the constraint satisfied with equality is binding.
First we rearrange the two FOCs and we write the equality constraint:
AQ—2/3L1/2
A= =
3p
AQ1/3L—1/2
- o2w(l-1)
PQ+w(l—T1)L=w(l-1)T +Y
By setting the left hand side of the two first equations to be equal we get: L = % Then replacing
this value into the equality constraint :

N w(l—1T+Y
Q==
pP(1+3)
2w(l—1)T +Y]
- 5
= 4 !
1+2 w(l-1)(1+3)
3T 3Y

_?+5W(1—T)



A(Q*)—Z/S(L*)l/z

In addition: A* = 35

,and Pr =v*=p*=0.



Problem 2. (40 points).

Proof of the Stolper-Samuelson Theorem: ““An increase in the price of a good will raise the real returns to
the factor used intensively in that good and lower the real return to the other factor.”

Consider the following two-sector, two-input model (2*2): Good 1 is produced at a relative price p and good
2 is the numeraire, sold at a price of 1. Prices are determined on the world market and so are exogenous
to the economy. The two goods are produced with labor L at a wage w and capital K with a rental price r.
The economy’s aggregate endowment of both inputs is fixed. We assume that sector 1 is labor intensive, and
sector 2 i capital intensive, so that when inputs are used optimally, {3 < {2.

Because of free entry, the firms earn zero profits in equilibrium, thus:
ctw,r)=p
C3(w,r) =1
where C' denotes the unit cost function for good i, formally defined as
Cl(w,r) = TiKn {wL; +rK; s.t. q' (L, Kj) > 1}

where ¢ (-) is the production function, meaning that it is defined as the minimum cost to produce one unit
of good i. Suppose that the minimum is obtained with the strictly positive quantities of input L} and K.

(@) Write the equilibrium conditions for this system as the level set of some f : R® — R2. What are the
exogenous and the endogenous variables? (Hint: Neither L nor K should appear in your answer.)

Clw,r) — p
Let f(p;w,r) = ’
et f(pwr) [CZ(W,I’) -1
corresponding to zero of the function f.

} . The equilibrium of the system is now represented as the level set

(b) Write down the unit cost functions C'(-) in terms of L* and K.

Using the notations defined for the optimal choice variables, we can write C' (W, r) = wL* + rK.

(c) Show that the derivative of C'(-) with respect to wages is equal to Lr.

C' is the maximized objective function, and the wage will not enter the production constraint, so by the
Envelope Theorem: ' '
dC'(w,r)  aC'(w,r)

dw ow L

(d) Similarly, what is the derivative of C'(-) with respect to rental prices? (Write your result in terms of L
and K)

*

By the exact same reasoning as in (c), dd—? =K
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(e) Assume for the moment that the condition for using the implicit function theorem is satisfied. Using

M

(@)

(h)

your answers to (c) and (d), write down the differential of the Jacobian of the implicit function relating
the wage and rental rates to the price of good 1. (Hint: in terms of the notation used in lectures, your
answer should be of the form dx = Jg(a)da.)

aCt(w,r) aCt(w,r)
1 o ) ) o
dCH(w,r) = W dw -+ ar dr=dp (12)
aC2(w,r) aC2(w,r)
2 _= 7’ 77 =
dC(w,r) = W dw+ o dr=0 (13)
Using the results from (c) and (d), we get:
Lidw+Kidr =dp (14)
>dw+ Lsdr =0 (15)

or in matrix form: L
IRk
dr L5 K3 0
Now check to see if the condition for the implicit function theorem is satisfied

We check the sufficient condition of the implicit function theorem, using the differential system derived in
(e):

Li Ki

= LiK3 - L3Ki

l L2 K2

Because sector 1 is labor intensive, we know that: % < % so that L;KT < L1K3 which means that

1 2
L7KS — L5K7 > 0. Thus we know that we can define w and r as implicit functions of p. We will note them

w(p) and r(p).

Show that a small increase in the price of good 1 leads to an increase in the wage.

We use the first-order approximation: w(p+dp) = w(p) + g—‘g’d p. To compute g—‘g we use the implicit
function theorem and apply Cramer’s rule:
dw _l 1 K}
dp 0 K3
K3
~ LiK; - LiKj

# (LIKS — L3Kg) ™ (16)

1)

As K5 > 0 and the denominator is also strictly positive, we find that ‘é—"r‘)’ > 0 so that an increase in the
price of good 1 leads to an increase in the wage.

Show that a small increase in the price of good 1 leads to a decrease in rental prices.



Similarly: r(p+dp) =r(p) + g—;)d p, then we apply Cramer’s rule:
dr ' Ly 1
dp L5 0
.
LiK; —L3K{
As —L5 < 0 and the denominator is strictly positive, we find that g—[) < 0 so that an increase in the price
of good 1 leads to a decrease in the rental price.

'*<L1K5—L5K;>l 18)

(19)

(1) What is the effect of a small increase in the price p on the real rental price (r/p)?
From our results in (f), if p increases then r decreases then necessarily r/p decreases.
(j) Bonus part: What is the the effect of an increase in the price p on the real wage (w/p)? (Hint 1: use

the zero-profit conditions, Hint 2: take it for granted that L1K5 — L;K; — (L7 /r) <0.)

This is a little more tricky. Obviously we cannot simply conclude that we will find a decrease in the real

wage as in (h). First, using the Chain Rule: d(Wg:))/p) = %(d"ég’) — %p)). This means that we need to
compare ‘é—"r‘)’ and @. We have already derived ‘é—"r‘)’ in (e), so we just need to derive %p). Use the first

zero-profit condition that we can rewrite it as:
wLi+rKi=p
wLs+rK; =1

The second equation leads to: w = 1_|_EK2 and plugging this expression into the first equation leads to:

p= rK{+L—1(1—rK5)
L3

Now we get:
wp) _ (A-rKy/L
p rKi + (L1(1 - rK3)/L3)
B 1-rK3
N rLoKT + L7 —rbiks
B 1/r—K3
(LK — LiK3) +Li/r
k) -yr
(LiK3 —L3K{) = (Li/T)
Using Hint 2 so changing the sense of inequality when multiplying by the denominator of @, we get:
dw _ w K3 K3)—1/r
_>_<:>**2**>**(22*/*
dp ~p L1K3 — oK (LiK5 —L3KT) — (L1/T)
LiK3

* * * * * * 1 * * * *
& K3 (L1KZ — L5KT) — < (Kz—F)(l—le—l—zKl)
o —LIKS < L3K} — LIKS

< 0 < L3KY
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Which implies that %‘;ﬂp) > 0 so the real wage increases with a raise in price.

You have just proved the Stolper-Samuelson Theorem !



